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Q.No: 1 Which is the simplest form of Carnatic Classical Music?

2427046
Ffed IR I T Fad I U S W2
Gitam
A
Rict
Suladi
B
Tawdt
Svarajati
C
R
Varnam
D
quiF

Correct Ans : A

Subject : General Knowledge

Q.No: 2 Which of the following is a natural harbor and the biggest port of the country?

2430704
Fofifed ¥ 4 $19-91 06 WoRie Faxg SR 3 BT Tod 997 §a¥E 87
Jawaharlal Nehru Port
A
SaTERaTT e Ui
Marmagao Port
B
T o
Mumbai Port
C
Hag o
Kochchi Port
D

Hifer W

Correct Ans : C

Subject : General Knowledge

Q.No: 3 Taj Mahotsav is held every year in which Indian state?

2431021
el HEIea ey HRa & g Toa F Sdifera fpan i 82
Karnataka
A
FAleH
Punjab
B
LEiCt
Kerela
C

e
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Uttar Pradesh

IR I

Correct Ans : D

Subject : General Knowledge

Q.No: 4 Which of the following personalities has provided Safety Valve to the British Government during the foundation of the Indian National Congress?

2432438

Frafarea & 9 g wieaad 7 YR AT BRI $ R S IRM B TWHR $1 0! dicd Juasd FT U1

A.0. Hume
A

T3 TgH

Annie Besant
B

T ade

Lord Macaulay
C

s Aerer

Lord Dufferin
D

e SHERA
Correct Ans : A

Subject : General Knowledge

Q.No: 5  What is the rank of India in terms of GDP among Asian countries?

2435782
U A 7 WRa SIS & A § b v W g?
First
A
uyH
Second
B
Tt
Third
C
g
Fourth
D
agd

Correct Ans : C

Subject : General Knowledge

Q.No: 6  Which ruler founded "Turkan-i-Chahalgani or Dal Chalisa"?

2435876
f&a I A "gHiA- T TeerT A ga et Bt i ot A
Mohammad Ghori
A
Higwe T
Iltutmish
B
Segaa
Qutubuddin Aibak
C
P 5P
Balban
D
ELERE

Correct Ans : B

Subject : General Knowledge
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Q.No: 7 Who was the first ruler of the Slave dynasty?

2435879
T[T 3 B YYH RS DI 4T?
Iltutmish
A
oo
Qutubuddin Aibak
B
T o
Mohammad Ghori
C
Higwig T
Balban
D
CLEE

Correct Ans : B

Subject : General Knowledge

Q.No: 8  ICC World Cup 2023 will be hosted by which country?

2437136
1CC fay oY 2023 1 Aol fw 3= gRT @) sy
India
A
HRd
South Africa
B
afEror st
Australia
Cc
siteferar
England
D
s

Correct Ans : A

Subject : General Knowledge

Q.No: 9 “Bahar” is the latest variety of which of the following crops?

2440707
apRe Prfifed § & fow wua 3 Tdaa e 32
Rice
A
|
Wheat
B
ag
Arhar
C
3R
Mustard
D
i

Correct Ans : C

Subject : General Knowledge

Q.No: 10 Which sports among the following is Fatima Bano associated with?
2440891

i T FfaRE # @ e ga & Hefia g2
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Hockey
A

gt

Cricket
B

e

Wrestling
(o

Eadl

Boxing
D

TPt

Correct Ans : C

Subject : General Knowledge

Q.No: 11 N in PANKH campaign stands for -

2441032
PANKH 3ifrm & N 1 ofef §-
Natural
A
RES
Nutrition
B
A
Neutral
Cc
G
Negotiable
D
ARG

Correct Ans : B

Subject : General Knowledge

Q.No: 12 In the first quarter of 9th century, which dynasty was founded by Mannuka at Tikamgarh?

2441143
ol Yrared] 1 gl fATel § wef A AbHTe H b Ao B RGBT ft?
Bundela
A
R
Sunga
B
g
Maurya
C
A
Chandela
D
G

Correct Ans : D

Subject : General Knowledge

Q.No: 13 Dr. Shankar Dayal Sharma was the President of India.
2441261

3T, xR g Tl YRd & gufar A |

6th

6di
B 7th
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7di

8th
C

8at

oth
D

ogi

Correct Ans : D

Subject : General Knowledge

Q.No: 14 In which year the Indore edition of Dainik Bhaskar was launched?

2441321

3 YRR BT SR TRl g o @t e T A

1981
A

1981

1083
B

1983

1985
c

1985

1987
D

1987

Correct Ans : B

Subject : General Knowledge

Q.No: 15 In which year Bandhavgarh National Park was declared a tiger reserve?

2441573

Sy T S B fbw ad 91 SR it fEar m ar

1993
A

1993

1968
B

1968

1999
C

1999

2002
D

2002

Correct Ans : A

Subject : General Knowledge

Q.No: 16 Which tribe of Madhya Pradesh believe themselves to be originally a martial Rajput tribe and belongs to Malwa?

2441607
T TR B P W Senfa T § 94 § iR ge B ga FU F I9yg Il § 2
Bhil
A
off
Gond
B
TS

C Santia


https://applink.adda247.com/d/XhqWf9lSap

Addai2y7 Eoogle Play

Hferar

Baigas

Jm

Correct Ans : C

Subject : General Knowledge

Q.No: 17  Which fruit is being produced by the farmers in association with Aatma projects?

2441790
e URESHIST & HgdT § A g1 e e &1 Ided fbar o W91 82
Strawberry
A
et
Apple
B
EiC]
Mango
C
SH
Grape
D
R

Correct Ans : A

Subject : General Knowledge

Q.No: 18 Who among the following is the currently serving secretary to Finance Ministry of Madhya Pradesh?

2441864
FafaRed & § 1 adam & 7 1w $ 39 Harey & 9 82
Mr. Jagdish Devda
A
ot st aaet
Dr. Manoj Govil
B
3. wee e
Lokesh Kumar Jatav
Cc
P HAR Seq
Irene Cynthia
D

S R
Correct Ans : €

Subject : General Knowledge

Q.No: 19 Receipts from the state’s share in central taxes is called as

2441882
St o A Trod & ol § wiftedl & et S &
Total Revenue receipt
A
T IoRd W
Devolution
B
aici)
Revolution
C
Hifd
State’s own tax revenue
D

oY BT UAT B ARG

Correct Ans : B
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Subject : General Knowledge

Q.No: 20 Madhya Pradesh has allocated how much percentage of its total expenditure on roads and bridges in the FY 2021-22?

2441886
Ty vow A fad af 2021-22 § 9@ IR YAt W oA $a G &1 fba wfawd smafed faar 82
3.3%
A
3.3%
4.4 %
B
4.4 %
5.5%
c
5.5%
6.6%
D
6.6%

Correct Ans : A

Subject : General Knowledge

Q.No: 21  Which scheme is declared by the Government of India for the citizens to get affordable and quality medicines?

2423027
YR WHR GRI ARG B T 3R ORIy Tard et 3t 3 Re 3 ¥ Ao ivg a9 7 22
Pradhan Mantri Mudra Yojana
A
AT o1 G
Mission COVID Suraksha
B
M covib TRam
Pradhan Mantri Jan Aushadhi Yojana
Cc
WA 5 Siofy e
Swacch Bharat
D

W URAd

Correct Ans : C

Subject : General Science

Q.No: 22 What is a ratio of two scalar quantities?

2425893
& iy e &1 srgard R g 82
Resistance
A
afRy
Power
B
e
Friction
C
T
Velocity
D
Eal

Correct Ans : B

Subject : General Science

Q.No: 23 Which one of the following is not a characteristic of Annelida?
2428767

GET IT ON

Google Play
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frfefed & § S TiftreT &1 faRiar 7@t &2

round body
A

T IRR

body is divided into segments
B

TR Gt A aier T ¥

Possess circulatory system, digestive and nervous system.
c

TR R Torrett, arer SR T o T B

they have tube-like body with small pores along the side.
D

TP T & Bl e B WK & P feaR o1 s 81
Correct Ans : D

Subject : General Science

Q.No: 24 Which of the following is an exception with respect to the organism with a cell wall?

2428811
FIfET iy a1 it & Tay & Feffed 3 § $9-0 suak 82
fungi
A
C:ca
plants
B
o
angiosperm
C
Wordret
animals
D
WM

Correct Ans : D

Subject : General Science

Q.No: 25 Which of the following is a good source of protein?

2429899

fFrofafed & & &7 W o1 o1 Wi 82

Black Gram
A

I =

Pea
B

HX

Pigeon Pea
Cc

IR

Soya bean
D

T S

Correct Ans : D

Subject : General Science

Q.No: 26 Observe the following figure given below. This organism belongs to which phylum?
2429925
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roundworm
A

My

flatworm
B

T

leech
C

e

Annelida
D

T

Correct Ans : D

Subject : General Science

Q.No: 27 The gills of bony fishes are not visible because they possess:

2429938
TR wSf & TS e T & i 3 urd &
operculum
A
Sical
fins
B
i ST HIT
skin
C
il
scales
D
ek

Correct Ans : A

Subject : General Science

Q.No: 28 Opening a gas cylinder knob that converts liquid fuel into gaseous fuel, is an example of

2430194
% 1y Ridfsy A Qe St v $u 3 i $e A uRafda aar €, &1 U IR 81
Endothermic
A
SR
Exothermic
B

et
C Physical change
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IR TRkad

Chemical change

RS g

Correct Ans : D

Subject : General Science

Q.No: 29 Cold milk becomes hot when heated, is a change.
2430201

WHFARSSI YA TN E, T8 uRad g

Reversible change

A
e
Irreversible change
B
SR RadT
Physical change
C
=ifee uRads
Chemical change
D

R T
Correct Ans : A

Subject : General Science

Q.No: 30 The cotton bolls are actually -

2431631
EREE KR
stems

A
GEl
fruits

B
ko)
seeds

Cc
LIl
leaves

D
™

Correct Ans : B

Subject : General Science

Q.No: 31 The tropical and the polar regions are the two regions of the earth, which have climatic conditions.
2431791
I BNy R ydT & gedt F &) &7 8, R Srerarg fRufaai &1
mild
A
9
severe
B
iR
balanced
C
waf

severely polluted

MR w9 8 ugfa

Correct Ans : B
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Subject : General Science

Q.No: 32 Which of the following diseases do NOT have a vaccine as of yet?

2434322
Frafarea & 9 fog Sl @1 anft a® 31 de1 76 52
Polio
A
Giferdt
Tetanus
B
™
Hepatitis B
C
Soerfew &t
Leishmaniasis
D

i

Correct Ans : D

Subject : General Science

Q.No: 33 Which of the following vitamins is NOT fat-soluble?

2434343

ol & @ & w Rl qur § gaia T8 32

Vitamin A
A

[EEERY

Vitamin D
B

fefm St

Vitamin C
C

e @t

Vitamin K
D

e &

Correct Ans : C

Subject : General Science

Q.No: 34 An image/jpg which cannot be obtained on a screen is called a image/jpg.
2436434

g5 wRifsr S o wR v et e o wepar, _ vifafsve wewmn 1

reflected
A
ufafefea
virtual
B
S
real
C
Eusiceg
distorted
D
fapa

Correct Ans : B

Subject : General Science

Q.No: 35 Which of the following is an anion?
2437219
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FrafaRed 3 4 S 91 U §2
Iodine ion
A
TS 3T
Lead ion
B
s o
Zinc ion
C
i e
Ammonium ion
D

ST TaT
Correct Ans : A

Subject : General Science

Q.No: 36 Luke goes to the house of his sister Syria, who is the neighbour of Salina. Salina has a daughter Mia. David is the father of Luke and is married to Cristina and has a sister, whc
2422481 s salina. How is Mia related to Syria?

F U T5 YA F R AT 7, S A B ISRl B el B U 3¢ v R Sfas W 1 frar @ ok It =t fpedin @ gF § ofR SUt uw 6 ©, S wein 31 fvan hfver & $¥ wafta
kX

Sister

Ll

Cousin

BT 6T

Aunt

o

Mother

I
Correct Ans : B

Subject : General Reasoning

Q.No: 37 In the following question, a series of letters is given. Some letters have been removed in these series, and they are in the options given below the series in the same order as
2422653 they should be. Study the given series carefully out of the four alternatives given below, and find the one that best fits in place of the missing letter of the series.

ab__aabb__caa__bb__cccaaaa__

Fafafd vy & seRl 1 uF gEar § T 21 3 s’ ¥ $9 oER ger R E, ofR 3 guar & A3 R e Rwed & 3 vy & § 99 3% @ aifw) R e e 9R fawed & & ) v g o
YIS ST X AR Ja & Gl 3HeRT F I W 98 faded W i Gad Iuge 2

ab__aabb__caa__bb__cccaaaa__

cacca
A

cacca

ccabb
B

ccabb

acbchb
C

acbchb

abcchb
D

abcch

Correct Ans : B

Subject : General Reasoning
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24'1‘243238 Select the option /number which is related to 3" number in the same way as 2% number is related to a
1%t number?
40:60::36:7?

3W WEAT [fFeT F1 97 ST = AEY FEA F 3H TR FOO § S g@U TE&AT T8
FEW @ wET

40:60:136: 2

42

42
54

54
60

60
84

84
Correct Ans : B

Subject : General Reasoning

Q.No: 39 Choose the numbers which is different from others in the group?

2426445
forg g T | & faw e &1 99T HX?
6
A
6
12
B
12
28
c
28
496
D
496

Correct Ans : B

Subject : General Reasoning

Q.No: 40 Which of the following diagram indicates best relation between Passenger, Bus and Train?

2426754
T & 9 o @ e o, 39 3R o7 & iF 99 o ¥ay 3 ufa 82
A
B
®
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Correct Ans : A

Subject : General Reasoning

Q.No: 41  Which of the following diagram indicates best relation between Mother, Daughter and Son?
2426802

o ¥ 9 $F o ok 1, 3¢ R 53 & 9 9 oy Tdo I i 82

ol
© o

Correct Ans : A

Subject : General Reasoning

Q.No: 42 Select the Lettered pair that has the same relationship as given in the questions:
2426821

Elevated : Exalted ?

I &R T BT TG P foradT Jay vl H A T wme g6y 9 7
5 R  | id
Dirty : Filthy

A

etz Tt

Disorderly : Unfaithful
B

IEd : fayraarh

Raise : Commensurate
C

BBT& HE i)

Promoted : Excellence
D

TEING = IFHTAT

Correct Ans : A

GET IT ON

Google Play
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Subject : General Reasoning

Q.No: 43 Select the option that is related to the third term in the same way as the second term is related to the first term.

2429540
CDHA : FWSD :: JNBU : ?
I AEed T 709 I o R T8 9§ S TR Hald § O gud UG Ued UG ¥ Hefdd §
CDHA : FWSD :: JNBU : ?
MNYX
A
MNYX
MNYY
B
MNYY
MMYX
C
MMYX
MMYY
D
MMYY

Correct Ans : C

Subject : General Reasoning

Q.No: 44 A man walks from west to east and on the way turn left and goes in a semi-circle round a hillock, and then turn left. In which direction is the man facing now?
2429678

TS 3t Uy A g B SR e § SR IR H a1 qodl € 3R U UgIel & =RT o) U i & St §, 3R e a1 wgdl 81 3@ e @1 4w o Rwn A §2

East
A

ko)

West
B

ufEw

North
C

JqR

South
D

SR

Correct Ans : A

Subject : General Reasoning

Q.No: 45 A specific analogy is given in the question below. Understand the logic behind it and choose the correct option for the next part:

2434098
I REEEE
1 fa g w3 o faferg amge frar wan ) 3% e F o Fi a7 e ¥ fag
ErRilcEz kISR ad
I REEEE
I'?
A
I';I
B
5
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A = ] ] M

Correct Ans : A
Subject : General Reasoning

Q.No: 46 Select the option that will come next in the given series.

2434148
0 l ) 0 {)

— N I (=

6 | o

OEG

39 fased &1 707 X o f IS @ H SR sy

e

0 0
==

0
=
0
A}
0
e
0
58
‘ 0
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0

Correct Ans : D

Subject : General Reasoning

Q.No: 47 Select the letter-cluster that can replace the question mark (?) in the following series.
2434358

Z, U, QN 7K

Frofafaa gae & 39 3eR-T0g 31 999 B ol vy g (2) 3 ufoeifid e g 21
Z,U, QN 72K

J
A

J

G
B

G

L
C

L

o
D

(o]

Correct Ans : C

Subject : General Reasoning

Q.No: 48 Three of the following four letter clusters are alike in a certain way and one is different. Find the odd one out.

2435031
Frofafaa ar sier T9gl # ¥ dF 1@ Fia &% 3 3 § SR @ s g1 fawm
EGI
A
EGI
ACE
B
ACE
GIK
o
GIK
TVX
D
TVX

Correct Ans : A

Subject : General Reasoning

Q.No: 49 If the mirror is placed on the line, then which of the answer figure is the right mirror image/jpg of the given figure?
2438703
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eo’E

(VL)

g TF U BT R TS A W @ o, o & T by spfori § ¥ SH- we gdu ofy grfte

eo’E
00

Q0
00

B

Q0
0o

06
QO

OO0 00 |60 09 0O
GO OO 600 [0 GO

Correct Ans : B

Subject : General Reasoning

Q.No: 50 Select the odd word/letters/number from the given alternatives.
2438931

fow e Ryt # ¥ fawm ree/sieRl/<em 3 g
64

64
B 900


https://applink.adda247.com/d/XhqWf9lSap

Addai2y7 Eoogle Play

900

512
C

512

1000
D

1000

Correct Ans : B

Subject : General Reasoning

Q.No: 51 Kiddu is the only child of Raju’s mother’s daughter-in-law Rinki. How is the Raju related to Kiddu?

2439294
frgg 9 3 9 3 9 R &) gFand 9aH 21 9, freg 9 5y ueR defia g2
Brother
A
g
Son
B
™
Father
C
forerr
Uncle
D
el

Correct Ans : C

Subject : General Reasoning

Q.No: 52 Given question has main statement followed by four statements. Choose the ordered pair of statements, where the first statement implies the second, and the two statements
2440330 g logically consistent with the main statement.

The money is either good or bad
A. The money is good

B. The money is not good

C. The money is bad

D. The money is not bad

o T gy H gEr S SR ISP 918 TR TUT 3| YT B A GH I, TI6T Ued HUT B diedd ok U F §, iR & FUF difbe T A T3 $3F ¥ T 7
97 a7 & 3T B A1 G

A. T ot &

B. e o1 TE &

C. e ¥

D. T TS el §
AC

AC
DA

DA
cD

cD
AB

AB
Correct Ans : B

Subject : General Reasoning

Given auectinn hac main atatement followed hv fonr statemente Chanee the ardered nair nf etatemente where the firet atatement imnliec the cecnnd  and the twn statements
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Q.No: 53
2440349

Cqm——mmee - gy g

a—r-t;.—[-ogically con-s;s_t;ent with the main statement.
The people are either reasonable or unreasonable
A. The people are reasonable

B. The people not reasonable

C. The people are unreasonable

D. The people are not unreasonable

U T Uy § gET A SR I 918 IR FYA &1 FU BT BT G T, 8T U7d Y B a0 g 9 9 B, SR < Y A1l FU F T FY F U@ 8
o o S € ar s

A. i SRE §

B. @ S &

C. anT o §

D. T oRd T €

cD

cD
DA

DA
CA

CA
AB

AB

Correct Ans : B

Subject : General Reasoning

Q.No: 54
2440421

Given question has main statement followed by four statements. Choose the ordered pair of statements, where the first statement implies the second, and the two statements
are logically consistent with the main statement.

The color should be either red or blue
A. The color is red

B. The color is not red

C. The color is blue

D. The color is not blue

fow g 9 7 g1 U SR TS 918 TR FUA § | U BT BT G T, T81 Ted DU BT A GER BUF 9 B, 3R & U b w0 § T FUT F W ¢
a1 71 | e A e g ey

A @aa g

B. 1 A A& ¥

c. o

D. &1 e 7 §

AB

AB
DA

DA
CA

CA
BD

BD

Correct Ans : B

Subject : General Reasoning
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Q.No: 55 Find the related word from the given alternatives.

2442015
Dog : Puppy
Ty 7Y Riwed! & Tl Weg T BRI
Pl ; fiean
Lion : Cub
A
N : IEH
Calf : Cow
B
CESHRIL
Bull : Cow
C
¥ T
Boy : Man
D
ASHI : ST

Correct Ans : A

Subject : General Reasoning

Q.No: 56 Find the amount of Rs.16600 for 18 months at 18% per annum, the interest being compounded semi-annually.

2423635
16600 IUY H 18 TR & 1T 18% ufd 9 F R A, N eref-a1fies <7 §, o fovmn sran 31 v ify @ gt
Rs.21560.2654

A
Rs.21560.2654
Rs.21497.4814

B
Rs.21497.4814
Rs.32167.5432

C
Rs.32167.5432
Rs.3190.1587

D

Rs.3190.1587
Correct Ans : B

Subject : General Maths

Q.No: 57 The present population of a town is 95400. If it increases at the rate of 9% per annum, what will be its population after 2 years?

2423659
TH HW P gdqH TG 95400 B M T8 9% Ul 9 &1 R F et §, i 2 I w30 g 1 grfie
113344.74

A
113344.74
76543.56

B
76543.56
45678.98

c
45678.98
8125.80

D
8125.80

Correct Ans : A
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Subject : General Maths

Q.No: 58 At what rate percent compound interest per annum will Rs. 2560 amount to Rs. 4410 in 2 years?

2423673
g @ W ufas Tegls sore vfta . 2560 AR ¥ 2 Wi H 44107
31.20%
A
31.20%
31.25%
B
31.25%
33.40%
o
33.40%
31%
D
31%

Correct Ans : B

Subject : General Maths

Q.No: 59 Solve:

2428560
50f2+10+2-20+(20+4 -5+ 10)
g B
2P5+10+2-20+(20+4-5+10)
5
A
5
4
B
a
1]
Cc
1]
9
D
9

Correct Ans : A

Subject : General Maths

Q.No: 60 Express the following ratio in the simplest form.

2429421
225:625: 2525
ST BT IAdH 79 H Fad B
225:625: 2525
6:7:32

A
6:7:32
9:25:102

B
9:25:102
5:7:45

C
5:7:45
7:5:10

D
7:5:10

Correct Ans : B
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Subject : General Maths

Q.No: 61 A pupil's marks were wrongly entered as 83 instead of 63. Due to that the average marks for the class got increased by half. The number of pupils in the class is:

2432543
TP B & 3f® 63 & I 83 F TY & 7Tad (R | ool [T T | ST SR B&l B 3NGd 3@ o J 5 T Fem & et o e 7 g2
30
A
30
50
B
50
40
c
40
45
D
45

Correct Ans : C

Subject : General Maths

Q.No: 62 The average of first five multiple of 5 is:

2432561

5 & Yy Uig U BT SN

10
A

10

12
B

112

15
C

15

25
D

25

Correct Ans : C

Subject : General Maths

Q.No: 63 In what ratio must sugar costing Rs.30 per kg be mixed with sugar costing Rs. 40 per kg so that the mixture be worth Rs. 37 per kg?

2432725

30 ¥W Ul fobell 31 I 1 g orgurd # <0 &t S & ary e o =g ue 40 9 Ul e @i s o1 e 1 37 wia fEd?

4:7
A

4:7

2:5
B

2:5

3:7
c

3:7

5:2
D

5:2

Correct Ans : C

Subject : General Maths

(224";03 1%41 What should comein place of question mark in the following number series?

819% of 23% of 10000 + /12544 =7
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Fmfafia dear-gaar & wafeeg (7) F o1 T T AmT Ay

81% F1239% T 10000 + /12544 =?

1972
A

1972

1975
B

1975

1977
C

1977

1976
D

1976

Correct Ans : B

Subject : General Maths

Q.No: 65 The average of 6 terms is 72. If the first 5 terms are 78, 84, 64, 56 and 72 what will be the last term?

2433861
g;ﬁmﬁwn%mﬁ%ﬁswn, 84, 64, 56 SR 72 § 1 sifow ug T grM?
A
72
68
B
68
78
c
78
84
D
84

Correct Ans : C

Subject : General Maths

(22""\13"3:96861 What will come in the place of the quesion mark *? “in the following question?

36-2(20+12+4x3-2x2)+10="

ot wy 8 vyaras g (2) & RIF R e

36-2(20+12+4x3-2x%x2)+10="

4
A

4
B

6

-4
C

-4

-6
D

-6

Correct Ans : C

Subject : General Maths

Q.No: 67 What should be the mark up percentage set by a shopkeeper so that he will get a profit of 16% after allowing a discount of 20%?
2435255
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% gFHER gR1 Feifa g gan ufara o1 @1 1T a1fds 20% ge &7 & aE 3§ 16% FT @Y 812

40%
A

40%

45%
B

45%

30%
c

30%

50%
D

50%

Correct Ans : B

Subject : General Maths

Q.No: 68 In what ratio milk and water should be mixed so that there is a profit of 10% after selling the mixture at cost price?
2435446

e orgurd # gy SR Ut @1 firam S et @1 arTd g R o B 9 & 918 10% BT A ge

1:10
A

1:10

10:1
B

10:1

2:5
C

2:5

3:5
D

3:5

Correct Ans : B

Subject : General Maths

Q-No: 69 Arrange in ascending order

2437514
358
=,2,and —-
7°7°9
ARG HHH FaYT B
358 g
S -3
3 _5 _8 8
S -
7 7 9 9
A
5 _8 8
t<ig=< -
7 7 9 9
3 8 5 8
EAF
B
3 8 5 8
ERNF A
a8 =) 5 8
5<3<3<3
Cc
8 3 5 8
—5<5<3<;
9 7 7
D
Seicict
9 7 7

Correct Ans : D
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Subject : General Maths

Q-No: 70 wWhat should comein place of question mark in the following number series?

2437938
4i+ 52 gl
3 6 2
Frafataa dear-smar § wafueg (2) F e IR aET Fge?
42+ 55-82=7
2
A
4
B
4
5
c
5
6
D
6

Correct Ans : A
Subject : General Maths

Q.No: 71 If in a symbolic language ‘EARTH’ is written ‘IUSBF’ then ‘GLOBE’ will be written in the same language as?

2422561
g et wichferd yTwT & 'EARTH' &1 'TUSBF' {RRaT ST 1 'GLOBE' &1 &1 W1 & feram siomn foret?
HMPCF
A
HMPCF
FMPCH
B
FMPCH
FPMCH
o
FPMCH
FCPMH
D
FCPMH

Correct Ans : D

Subject : Mental Ability

Q.No: 72 Ifin a certain code, RIPSLE is written as 613082 and WIFE is written as 4192, How is PEWSLE written is that code?

2426499
I T FAfT B w9 & RIPSLE &1 613082 3iR WIFE $ 4192 frar Sl 8, @ PEWSLE &1 forg weR feran smom?
32408
A
32408
69824
B
69824
41632
c
41632
35612
D
35612

Correct Ans : A

Subject : Mental Ability
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Q.No: 73 In a certain language, FUTILE is written as EGTVSUHIKMDF. How will HELPFUL be written in that language?

2434450

o ffid e W H, FUTILE &1 EGTVSUHIKMDF & &1 # foram Sram §1 of St Wt & HELPFUL &Y 39 frar smarm?

GIDFKMQREGTVKM
A

GIDFKMQREGTVKM

IIDFKMOQEGTVKM
B

IIDFKMOQEGTVKM

GIDFKMOQEGTVMN
C

GIDFKMOQEGTVMN

GIDFKMOQEGTVKM
D

GIDFKMOQEGTVKM

Correct Ans : D
Subject : Mental Ability

Q.No: 74 If the word CREATIVE is coded as 51483674, the word REAL is coded as 1489, then how will word LITTLE be coded?

2434936

I W& CREATIVE &Y 51483674 A 3R st REAL $ 1489 ¥ FHeas fban e, o Weg LITTLE &) 54 YR Fe fawar smom?

966394
A

966394

963394
B

963394

963994
C

963994

969394
D

969394

Correct Ans : B

Subject : Mental Ability

Q.No: 75 In question below are three statements followed by two conclusions numbered I and II. You have to take the given statements to be true even if they seem to be at variance
2435511 from commonly facts and then decide which of the given conclusions logically follows from the given statements.

Statements:

I. No rose is flower.

11. All flower are fruit.

III. All fruit are grapes.
Conclusions:

I. Some grapes are flower.

II. All grapes are flower.

19 Rw g uy & 7wy R u § Rrads g < Py 1 ok 11 R 1w §) sruet R e e &) U BT R, HA 8 3 ey qull @ i wella 219 € SR R Tu R [ e Py R e
P BT qMHD U Y ITAR0T BT 8|

P
1. I Ta1s § T 81
11. 3 ga wa 31

11 3l Wt SR 1
e,

L $T T B &I

11 3 R wa g1

A Only conclusion I follows.
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Faa Ty T SRR FRa

Only conclusion II follows.

B

Fad Y 1T SER0 H=al B

Both conclusions I and II follows.
C

2 ey 1 iR 11 SR BRa §

Neither conclusion I nor II follows.
D

T e 1 ok T € 1T SR g 31
Correct Ans : C
Subject : Mental Ability

Q.No: 76 In question below are three statements followed by three conclusions numbered I, II and III. You have to take the given statements to be true even if they seem to be at
2435546 \ariance from commonly facts and then decide which of the given conclusions logically follows from the given statements.

Statements:

I. Some apples are potatoes.
II. All potatoes are tomatoes.
III. Some tomatoes are guavas.
Conclusions:

1. Some apples are guavas.

II. Some guavas are potatoes.

III. All tomatoes are apples.

1 g ey H M Su ofR I9F a1g A e 1, 11 o 111 3T T ¥ suet T T sl S I AT R, 1R  HERE: {id i 9 e vrelia g 8, emaant fRofa g @ o5 faw e e
I HH I ey afee T J SR HaT g

CACH

I. $© 99 &l

11, et o enreR 81
I11. TF THICR 3TEE gl
o

I. 3 A9 (7S €

I1. T 3AFG ST 3
111 oft TR ¥ 81

Either conclusion I or II follows.

A

1 ot s 1 97 11 SRRV el B

None of the conclusions follows.
B

FXE ot Freepf iRl T R B

Only conclusion II follows.
C

e Py 11 SRR B B

Both conclusions I and II follows.
D

fepe 1 iR 11 G SR R 7
Correct Ans : B
Subject : Mental Ability

Q.No: 77 In the question given below, three statements are given followed by two conclusions I and II. You have to consider the statements to be true even they seem to be at variance
2439105 from commonly known facts. You have to decide which of the given conclusions, if any follow from the given statements.

Statements:

All snakes are reptiles.
Some reptiles are not fishes.
Some lizards are snakes.
Conclusions:

I. Some reptiles are lizards.

II. Some fishes are lizards.
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1 few g s B R FuA 9 IS vy ) ISy 1 11 U T 1 et R T S o W WA R, 4 € 9 Tded ol @ P el 91 & aul el 3 SR TR ST ST IR & §
Y

Tf o Tga 8

Fv TGy Tl T €1

3o fousimr Fiv g

s

1. $% WYy U g1

11. $ HoRE! feuwma g

Only conclusion I follow

A
e Ay T SgeR B §
Only conclusion II follows
B
Fad ey 1T SFFER B3l §
Both conclusion I and II follow
C
py 1 IR 11 G SRR IR §
Neither conclusion I nor II follows
D

T sl 1 3R T & 11 TR FRaT 7§
Correct Ans : A

Subject : Mental Ability

Q.No: 78 On another planet, the local terminology for ‘earth’, ‘water', ‘light’ and “air’ is ‘light, ‘air’, ‘water’ and earth respectively. If someone is thirsty there, what would he drink?

2439288
T T W, g, S, "W AR Ay g v wearaeh wust: e, any, ' R gl §1 957 B e g d @@ fwm?
Light
A
BT
Air
B
aq
Sky
c
STPTRI
Water
D
Sl

Correct Ans : B

Subject : Mental Ability

221'\;(;57395 Kapil is a student of 12t class. In his class, his position is 14% from the top and 48t from the bottom.
What is the total number of the students in the class?

T 12 & &1 BT O ¢ ITD! Tl H, ST U A F 14 T H R ¢ 70 92 T 48 § A W B Tl A SEI 31 FA TS Q2

64
A
64
62
B
62
61
c
61
63
D

63
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Correct Ans : C

Subject : Mental Ability

Q.No: 80 1If in a certain code language ‘ORIENT’ is written as ‘532146’ and ‘SOUL’ is written as ‘7598’, then how will ‘LINE’ be written in that language?

2442177
I v Pfd e U & 'ORIENT’ &1 532146 3R 'SOUL’ $1\7598' el Sl 8, @1 'LINE &1 39 i & &9 feran sem?
9241
A
9241
7341
B
7341
8241
[
8241
6241
D
6241

Correct Ans : C
Subject : Mental Ability

Q.No: 81 IfP = 16 and PUT = 6720, then PICK = ?

2442206
g P = 16 3R PUT = 6720 §, <t PICK = ?
4137
A
4137
4590
B
4590
4032
o
4032
4752
D
4752

Correct Ans : D
Subject : Mental Ability

Q.No: 82 From the given alternative words, select the word which cannot be formed using the letters of the given word.

2442797
Excrement
fau Ty dpfeue el # A 9 Wes Y SN 3T TG e B 1Rt b1 AT B AL ST S Fehell|
Excrement
Cement

A
Cement
Meeted

B
Meeted
Menter

C
Menter
Exenter

D
Exenter

Correct Ans : B

Subject : Mental Ability
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Q.No: 83 Which one word can be formed from the following letters ?

2442864
bar mnige
ol s1eR & S §1 U Xeg ST ST Webell 32
bar mnige
bargaining

A
bargaining
breaming

B
breaming
becoming

C
becoming
believing

D
believing

Correct Ans : B

Subject : Mental Ability

Q.No: 84 From the given alternative words, select the word which cannot be formed using the letter of the given word:
2443004

UNIVERSALISATION

Frafafea faeed & § 98 es 9T S AT T ez & s1er &1 TN 9 el ST S ol 21
UNIVERSALISATION
NATION

NATION
CURTAIN

CURTAIN
LIVER

LIVER
AVIATION

AVIATION
Correct Ans : B
Subject : Mental Ability

Q.No: 85 Arrange the following words as per their order in the English dictionary.
2443045

1. Pearl

2. Peasant

3. Pea

4. Peanut

Frafofea wedl F1 ool Teawrm ¥ T T A & ogeR R
1. Pearl

2. Peasant

3. Pea

4, Peanut

3,1,4,2

3,1, 4,2

B 3,4,1,2

GET IT ON

Google Play
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3,4,1,2
1,3,2,4
c
1,3,2,4
1,2,3,4
D
1,2,3,4

Correct Ans : B
Subject : Mental Ability

Q.No: 86 A and B can do a piece of work in 15 days; B and C in 20 days and A and C in 21 days. In what time can they do it, all working together?

2423764
A 3R B UF H # 15 ol H 9 Waha §, 20 RAT # B 3R € 9l 21 RAI F A 3R €. 3 TP U U 10 F74 §Y 39 e g § 9R g §2
871/21 days
A
871/21fA
987/5 days
B
987/5 &
321/4 days
o
32174
280/23 days
D

280/23 7
Correct Ans : D

Subject : General Aptitude

Q.No: 87 Calculate the rectangle’s area if its two adjacent sides are 6 cm and 9 cm.

2426192

T 3(TIA PTEFPT T BT I1S TP &1 A HoG 6 i 3R 9 It B

65 cm?
A

65 TR

54 cm?
B

54 HFR

28 cm?
C

28 {HR

30 cm?
D

30 3

Correct Ans : B

Subject : General Aptitude

Q.No: 88  Find the parallelogram’s height if area is 320 cm? and base is 20 cm.

2426213
T a7 320 e § 3R 3maR 20 {1 ] A FAIGR I SATS &7 IAT T |
13 cm
A
13 ¥R
25 cm
B
25 iR

C 16 cm
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16 ez
19 cm

19 iR

Correct Ans : C

Subject : General Aptitude

Q.No: 89  Find the cube’s surface area if length of each side is 12 cm.

2426217

I 7AF Ty Y 7S 12 S ¥ A 9% g S g H1 ga Ty

864 cm?
A

864 JHR

564 cm?
B

564 Jr

164 cm?
C

164 &R

334 cm?
D

334 JFR

Correct Ans : A
Subject : General Aptitude

Q.No: 90 Which of the following is divisible by 8?

2427624
Frofafea & 9 $1 8 I v 2
31236890574234

A
31236890574234
36890214583579

B
36890214583579
13579052488525

c
13579052488525
5532567986465

D
5532567986465

Correct Ans : D

Subject : General Aptitude

Q.No: 91  Which of the following is divisible by 23?

2427646

it & @ S 23 @ fausa 32

115161
A

115161

752158
B

752158

863216
c

863216

D 9086312
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9086312

Correct Ans : A

Subject : General Aptitude

Q.No: 92 A4674566643218B is divisible by 18 find the value of A+B

2427677
A57843148, 18 ¥ faWIsT § A+B 1 AN T P
3
A
3
7
B
7
5
c
5
9
D
9

Correct Ans : D

Subject : General Aptitude

Q.No: 93 How many pairs of x and y satisfy the equations 6x + 5y = 16 and 8x + 7y = 22?7
2431203

x 3R y & fFa g 6x + Sy = 16 TUT 8x + 7y = 22 FI Iy X 87

1}
A

0

1
B

1

2]
C

=]

3
D

3

Correct Ans : B

Subject : General Aptitude

Q.No: 94 Solve the following equations for x.

2431207
19(x +y) + 17 = 19(-x + y) - 21
x & forg ga aX
19(x +y) + 17 = 19(-x + y) - 21
-1
A
-1
-2
B
-2
-3
C
-3
1
D
1

Correct Ans : A

Subject : General Aptitude
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Q.No: 95 1In the given figure, AB and CD are two common tangents to the two touching circles. If CD = 7 cm, then AB is equal to
2431348

9 cm

b o &
Correct Ans : A

Subject : General Aptitude

Q.No: 96 An open bucket is in the shape of a frustum of a cone of height 21 cm with radii of its lower and upper ends as 10 cm and 20 cm respectively. Find the cost of milk, which can
2433793 completely fill the bucket at 10 per litre.

TF Gt A1t 21 It S 9101 0 WP F 59 F HR F Al 7, fored Fad ok Sl R 31 ot o 10 iR 20 T R U A q@ Ia I, S w0 i AR ST R I G@
et 1R Bl

150

150
154

154
160

170

170
Correct Ans : B

Subject : General Aptitude

Q.No: 97 The breath and length of a rectangle are in the ratio 6:12. If its perimeter is 154 c¢m, find its length and breadth.
2433811

TH fAd B ST SR TG HT 370G 6:12 21 IfS 391 R 154 it B, o ot e oiR Jrer 9a iR

20, 25
A
20, 25
25.2, 45
B
25.2, 45
50.4, 25.2
c
50.4, 25.2
26,26.5
D
26,26.5

Correct Ans : C

Subject : General Aptitude

Q.No: 98 12 men complete a work in 9 days. After they have worked for 6 days, 6 more men join them. How many days will they take to complete the remaining work?
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2436093
12 i fasht o 31 9 7 ¥ 0 TR B 6 37 71 T &y 6 e iR i@ & o ¥ W w1 T v A e A 31 g we
2
A
2
3
B
3
4
c
4
5
D
5

Correct Ans : A

Subject : General Aptitude

Q.No: 99 At present, the ratio of the age of Ram and Shyam is 7 : 6 and 14 years from now, the ratio will get changed to 11 : 10. Ram’s present age is:

2436895

A #, T IR AW B TG BT A 7: 6 ¢ a1 3@ 9 14 99 I1C, I8 SJUM TG 11: 10 T ST XH B AN 31 I1d S|

24 years
A

249y

24.5 years
B

24.5 T

26 years
C

26 T

28 years
D

28T

Correct Ans : B

Subject : General Aptitude

Q-No: 100 What should come in place of question mark ‘?” in the following number series?

2444755
6, 24, 60, 120,210,
Frfafea wem g & uxd &% 2’ & RIM R 1 3w?
6, 24, 60, 120,210,
432

A
432
343

B
343
368

C
368
336

D
336

Correct Ans : D

Subject : General Aptitude
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